(\\“\1 aneg Suisg

Department of Mathematics, King Saud University

COURSE : Actuarial Mathematics 1, ACTU 362
Instructor : Dr. Mostafa Bachar

1. Solve exercises 2.1, 2.2 and 2.3 page 36. For questions f) and g) in
exercises 2.1, can be done later.
2. Solve exercises 2.8, 2.9 and 2.10 page 37-38.

3. a) Show that when u, = Bc*, we have
tPx = gcx(ct—l)
Where g is a costant that you should identify.

b) For a mortality table constructed using the above force of mortality, you
are given that ;,pso = 0.861716 and ,,pso = 0.718743. Calculate the value of B
and c.
4, You are given:
i. ,py =0.98
i. Prin = 0.985
iii. £q, =0.0775
Calculate the following:
a) 3Px
D) 2Dx+3
C) 2139x
5. You are given:
i. spro = 0.95;ii. ,p;1 = 0.96;iii. [ u_dx = 0.107

Calculate: <p,,



